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2.(8%)zj4w it CSMA/CD 1 i% 4% ] (mechanism) -
MA= Multlple access
Several computers intend to send data
CS=Carrier sense
Computers sense the carrier to determine whether it’s OK to send
CD=Collision detection
Computers detect collision in case of simultaneous transmissions

(or
Each computer listens on the Ethernet
— I not sensing data on the carrier, OK to send its own data
— If sensing data on the carrier, check whether the data is addressed for itself
In case of simultaneous transmissions, (collisions)
—  The computer waits a random period of time before re-send)
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7. (10%) Acronyms: 38 d1 55 ® ki ¢ 4ot FTP = file transfer protocol -
weor ld W\J-L U‘)zb

WWW:
DNS: domain Name sepver (service)

IP: Tnterned pro tocal

LaN: el area natwerk

pHep:  dynamic Kpst om?rr"“ﬁ”ﬂ P"’T”J
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b. (5%) TCP~ FTP- IP~ HTTP % into packets
Ethernet & 77— & ?
TCP: Trans port )
. Assigns W
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' Transfers B
packet to its Ll/"‘". -
intermediate
address

Origin
9. (P2P) Which statement is NOT true? b
a. In Napster, thereis a central database for song titles.
@ In Napster, there is gcentral server having disk space to hold all the songs.
c. In Gnutella, al of thé'fachines on the network tell each other about available files usi ng
adistributed query approach.
d. Using P2P software, users give up some amount of your bandwidth to handle requests
from all the other users.
e. Gnutellaitself islegal (& /2 ). Thereisno law against sharing public domain files.
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TCP (connection establishment before transmission)
a BEEEP Fﬁ:“’fif‘k;,t,g% S ERE Y T2 EREPRGEET - UDP
b. ?llﬁngglrgémlﬁﬁo TCP
CHRFEFIE > ¥ UL o ICF
d " UEREFEPEEEREI ALEI L ENFNEE - _TCE (congestion
Control)
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12.(4%) = 7w ¢ 3 24 B paallel computers mwﬂ‘" - fin:
a Several instructions (4, 4 ) are executed at the sametimeinaCPU.<~ pife""'"]

b. Computers can process several programs simultaneoudly.
¢. One program can be divided (with caution) and executed on multiple CPUs.
d. Supercomputers (4 % 7. &) are parallel computers.

13.(4%) 7 B printer spooling » ™ 7| i 4 f5 it B A I Fi? o
a. Print jobs are sent to buffer (hard disk) instead of directly to printer.
b. Each program thinksiits print job is writing to the printer.
c. Print jobs line up in queue.
d .+ gE2to

14. (6%) 3+ #7 Fe transmission media 2. & chZ & :
a mﬁ mbandW|dth R (TiApFERFR T B daa & +)? C
(a) twisted pair  (b) coaxial cable (c) iher (d) wireless
b. @ A&k M? 0
.' ed pair (b) coaxia cable (c) optical fiber (d) wireless
C. el + i fid?
(a) twisted pair  (b) coaxial cable (c) optical fiber  (d) Wirdtess>



